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SPACE FOR ROUGH WORK
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PART A

Choose the verb for the space to express the given meaning:

You type ten pages in two hours. (ability)
( can (B) may
(C) must (D) would

Choose the best option for changing the following into indirect speech:
“Do you know why he is sad?”
She asked me whether

(A) Iknow why he is sad (B) You know why he was sad
(CM I knew why he was sad (D) Did I know why he was sad

Read the following and pick the best question form from the options :
The guests may arrive now.

(A) May the guests arrive now?

(B) Will the guests arrive now?

(Cf Are the guests likely to arrive now?
(D) Will the guests not arrive now?

Choose the correct grammatical label for the word ‘ inhuman’:
(Af adjective (B) noun

(C) wverb (D) prefix

Pick the appropriate phrase for the space in the sentence:

There are a few benches the hall.
Y in front of B byihesidedt
- (C) along with (D) apart from
3 AREX255
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6. Pick a more suitable word from the options for the word in italics:
He damaged his foot.

(Al injured (B) harmed
(C) lamed (D) crippled
7 From the given options, choose the one that is nearest in meaning to the given
word.
Hinder
(A) Help ( Impede
(C) Bother (D) Control
8. From the given options, choose the one that is farthest in meaning to the given
word.
Discrete
(A) Shrewd (B) Stupid
(C) Unkempt (lszomposure
9. A related word is given. Now from the given options, choose the word(s) the

best completes the relationship similar to that in the given pair
e.g: Fox: Cunning.

(A) Bus: School (B) Tool: Dentist
((y Taj Mahal: Beauiiful D) Clase: Bindents

10. Out of the four alternatives, choose the one that can be substituted for the
given words/phrase.

A speech delivered without any preparation

(A) Straightforward ( Extempore
(C) Verbose (D) Maiden

AREX255 4 A
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12.

13.

14.

15.

Sorpe parts of the sentence have been jumbled up. Rearrange these parts
which are labeled P, Q, R and S to form a sentence. Choose the proper
sequence.

I believe that

Tendulkar’s century will always remember cricket lovers on Tuesday.

P Q R S
The proper sequence should be:
(A) SRQP (Bf RQPS
(C) PSRQ (D) PRQS

Fill in the blank from the given options.

I called the company to why it denied me credit.
(A) trace (B) persecute
(Q’ ascertain (D) search

Fill in the blank from the given options

He eating the food.
(A) realised ( relished
(C) rebelled (D) rejoiced

Fill in the blank with suitable preposition.

We discussed the economic crisis.
(A) about (B) at
(C) on ('DI No preposition

Fill in the blank with suitable adjective.

He is than I am.
(A) elder (Blolder
(C) eldest (D) oldest
5 AREX255
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. 16.

17.

18.

19.

20.

Choose the best word for the space in the sentence:

He felt that his legs would not support him.
(A) sure ( certain
(C) doubtless (D) certainly

Pick the comparative degree of ‘kind’:

(A) kindly (B) kindlier
(€ mors e (Q]‘kinder

Choose the correction for the word in italics:

As the train left we managed to get into it.

(A) had left (B) has left
(C)' was leaving (D) would leave

Choose the word that would replace the words in italics:

~ The police will catch those who ran away.

(A) disappeared ( absconded
(C) left- (D) departed

Say which option is correct for the word ‘people’:

(A) It has no plural form (B) It is singular
(C) It is both singular and plural (Djlt is a plural only word

AREX255 6



21.

22.

23.

24.

25.

Identify the word or name before which ‘the’ is not used:

(A) USA (B) Sun
(C) Ramayana ([J Everest

Choose the word or phrase that will replace the words in italics:

History praises those who love their country.

( patriots (B) freedom-fighters

(C) soldiers (D) social workers

Pick the best meaning of the word ‘wither’:

(A), to become dry (B) to shrink
(C) to grow small (D) to die

Pick the right word from the options for the space in the sentence:

I was angry the results.
(A) with (H,at
(C) for (D) about

Pick the sentence that puts the word “formally” in the right place

(M He went up to the table and formally spoke to the Manager
(B) He formally went up to the table and spoke to the Manager
(C) He went formally up to the table and spoke to the Manager
(D) He went up to the table and spoke to the Manager formally

7
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26. Answer the questions on adverb.
The sentence, ‘He works hardly’ means

(A) He works very hard (B) He works hard
(C) He works always (Dj He does not work

27. Pick the correct passive voice sentence for the following:

Please bring a pair of pencils.

(A) You are instructed to bring a pair of pencils
(B) You are ordered to bring a pair of pencils
( You are requested to bring a pair of pencils

(D) You are expected to bring a pair of pencils

28. ‘Nourish’ means

(A) to make rich (tho give food
(C) to make strong (D) to make healthier

29. Which word describes something different from others?

( position (B) dock
(C) bed (D) flower

30. Choose the best question form for the following sentence:
He might include the second name in the list.
(A) Might he include the second name in the list?
(EJ Is he likely to include the second name in the list?
(C) Might he not include the second name in the list?
(D) Will he include the second name in the list?

AREX255 8



31.

32.

33.

34.

35.

Out of the four alternatives, choose the one that can be substituted for the
given words/phrase.

A place that provides refuge

(A),,Asylum (B) Sanatorium
(C) Shelter - (D) Orphanage

A set of four words are given, marked A, B, C and D, spelt in four different
ways. Choose the correct spelling.

(Aj favourite (B) favourit
(C) favoarite (D) favorite

A sentence has been divided into three parts. Select the one that contains an
error. If the sentence contains no error, mark (D) as the answer.

(A) either my sisters (B) or my brother
(Cf are coming today (D) no error

Answer the following with suitable question tag.

Ravi played hockey, ?
(A) did he? (deidn’t he?
(C) does he? (D) doesn’t he?

Answer the following with suitable question tag

They are laughing, ?
(AQ/ aren’t they? (B) are they?
(C) do they? (D) don’t they?
9 AREX255
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36.

317.

38.

39.

40.

PART B

sMed QasHwusse LspuDDeu
A)  ysgewl9sgen @ e My ememJ
(C) Qgusarbger (D) eumend

urerig werLfa ereb @Gmib srellwdens LenL SHeui

A)  umgdwumr @ ung@grr&a’nJ

(C) sawamgrae (D) eurenfigmae

Ad&seusbum erem Lmm L ULHUeUT

@ HmLigemriiGdrenar (B) aiywrupefeur
©) . Guml (D) euaibLfggmenr

SOIPSTL uUTPSE @)L bELIHMD HI6 618 ?

A)  urgpeTellELgDd (B) sulpssludenssd
©) @rmeuemsmeiwid @ LoGarrrra'moaszfﬂuJLb\/

2 0&55HCoCWw s0PELMNESTS 2 & LIHTH HLES W PS5 HT(H

@ wGaHAwim (B) smuemrhg

©€) @pdur (D) e
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41.

42.

43.

a44.

45.

IBTL(H) LI LIGHIT §0GHT&EDTLOGIT LITL_)I&(&) HTL_Iq WILD < lq-Ut (LPGed Gl Liagr
(A)  eau@mubdwrer (B) usefl
@ unev&udumé]\/ (D) Cesruerm

&TL_1g.60T GUATHENSS GDI&HEWD allevmni(s,

(B) fmsbd

A)  srq
@ qc&\/ D) wmrener

T e LILIGSH UL uTPLIGUTEHET

@ STL_T&6T (B) Garitser
(C) u@snser (D) @meriser

BT QomPlujb HLog) @) SETEHET cTand &ndlieui

A) salwafl Caéls allprusd Geraner
@ Loa;rresa‘j]urmgﬁum'n/

(C) ou.o. Agbugermi
D) @um.9. Gegiderener

swCumrsTuGukseaid L bGunuemae
A) BaCss @ §m5£§g,nmamﬂ‘/
(C) wsTUTHSLD D) @CussTewid

11 AREX255
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46.

47.

48.

49.

50.

Saooviudsmssle @LbGubm @emiens Lemement

O -/

(C) oNsdlgwumeven

SID QFemmed erarls umpmL 1 Qumueu

(A)  eu.su. wrallEsd

©) . aupgpmsen

& ewr(h ereLig)

(A) wmsguHTI®

C) AnusrsHyd
@ emanmprHLId e <8 fw
@ a;ﬁ]eur'r‘/

(©) puysenmi

Hip&Helmbg 6Jabd smhbler Quwim

12

(B)

D)

(B)

(B)

(B)

(D)

(B)
D)

eIrGaa

W [€:7:3)

g9, CagilGerener

Q@.aﬁ].a;.\/

CerdlL_mreo

Q&n;’p&m@éﬂmm\/

eSlaTb G BraeTTT

seGamb e

CamenL

Qgermed



51.

52.

Which of the following software is not a web server

(A)
(B)
©

O

PART C

Apache
Internet Information service (IIS)

Mongoose

Pythom/

Spaar_cunmle eThs QenEummer euenaw Caemeuwsd (Web server) @eaema

(A)
(B)
(©)
D)

SumFsl
@ enanT gaeuc Caeneu
LD MBI &0 6

LSS 6

Which among the following is not a social media

A)
(B)
©

O

Facebook
Twitter

LinkedIn

EDXv”

SpsarT_cundled 6T Feps 2arL_sLD @)eana

(A)
(B)
(©)
D)

wsmre (GuevLs)
Cedlm
Ol M L_edT

[E\[ar:-

13
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53. Who appoints the Chief Justice and Other Judges of the Supreme Court
of India? ;

(A) Prime Minister of India
(B) Parliamentary Joint Committee

(C) Ministry of Law and Justice

@ President of India/

@Qidw 258 BHoamsdHer smwmw BHuH womb 2 FF BHweam BHudsmer wr
Bluwdlgs Geuar(HiLd?

A) @pHuls Grsw wHS
(B) umpmEpwetmsder sal (B &1
(C) &lLbwpmbd fHsgimD SLEFSLD

D) @BHws GYWrss semeeum

54. Green Revolution in India is also known as

(A) Seed, Fertilizer and irrigation revolution

Agricultural Revolution/

(C) Food Security Revolution
(D) Multi Crop Revolution

@pdwredler sl LTl sl eranm iempasu(Heug)

A) e&ens, 2 7, WHHID LrFears 4§
B) efeusmus yyl &
C€) eawmeyurgsTiyl L8

D)  weuudr yr 8

AREX255 14 A



55.

56.

A town’s population increased by 1,500 people, and then this new population
decreased by 12%. The town now had 60 less people than it did before the
1,500 increase. What is the original population of the town?

A) 13,000

® 1500/
(€) 11,440
(D) 10,000

M BaT&Hen s Agrens 1,500 <45 oisfsss) Naant oibs UHW wésar QsTams
12% <5 Gonbsgl. 1500 wasear Qgrans da(Heusn@ (wpearanm @\(hhsms AL sHCumg,
60 Gur parsdler Gemeurs @Qm&SHDiser. bs BsTsHar QMBS WS CsTens
GTEUGUGTEY ?

(A) 13,000
(B) 11,500
(C) 11,440
(D) 10,000

In a community 28 percent speak Tamil, 7 percent speak Telugu, and
5 percent speak both Tamil and Telugu. What percent of this community
neither speak Tamil nor Telugu?

(A) 30 percent

(B) 70 percen
(C) 60 percent
(D) 95 percent

R FWPsTwHSe 28% sl Cuad wWESEHD 7% CsanE Cusd WESEHWD WOHMID 5%
SO wHND CsemE Cusb WEEEHD QMmaSnTisdr. sWBCLHT owg CsamGsT
Cuens wasaflan s5694 50 ereucuera?

A) 30 sgaidlsd

(B) 70 s3e94l510
(C) 60 szaildlsd
(D) 95 szaldlgd

15 AREX255
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57. Train A traveling at 60 km/hr leaves Mumbai for Delhi at 6 P.M.
Train B traveling at 90 km/hr also leaves Mumbai for Delhi at 9 P.M.
Train C leaves Delhi for Mumbai at 9 P.M.

If all three trains meet at the same time between Mumbai and Delhi, what is
the speed of Train C if the distance between Delhi and Mumbai is 1260 kms?

(A) 60 km/hr (B) 90 km/hr
©) 120 kmhnt (D) 135 km/hr

waflls@ 60 8.5 Caussde Geogid A eamm @ Uamseuary wWbauuledmbs)
QLeall&@ wrene 6 wanflé@s SerbLSmng)

waflls@ 90 .5 Caussde Geogid B eramm @@ yamseuary Uil mbs)
QLevellg@d @rey 9.00 wenflé@E SlarbLdmg

C erenp yevseuary QLelluladlmbg (pbausE @re| 9.00 weafléE SerbLdmg).
QLeells@d phausEh 2 der g 1260 £.5. Qbs epeTn eUey&EhD LU
wHM QLodlsE @aLtu @ty @Lidad spdssred C eamm euarguier Geusd

CTEUGUGTEY?
(A) 60 &b/ wenfl (B) 90 &b/ el
(C) 120 &b/ wewd (D) 135 A/ wenfl

58. The gas usually filled in electric bulb

(A) Hydrogen @ N itrogen\/

(C) Oxygen (D) Carbon dioxide

e Lieviled Blptiniu®b eumy erg?
(A)  an_ygen (B) enpLregen
©) <ysHmen (D) sniuer epL_pdemenL

AREX255 16 A



59. Curd is sour due to the presence of
(A) acetic acid
(B) tartaric acid
lactic amd/
(D) oxalic acid
ST eTgem sTyeRTLONS Ljefluung @ meslng)?
A) <=flgs sl
B) cCrrorflé ol

(C) Casigs Sibflevid
D) saTalls Sjdlevid

60. Which unit is not related to temperature?
(A) Fahrenheit " (B) Kelvin
@ Joule\/ (D) Celsius

Qeuliug gL e FIDUBSLILIL TS A0S 6T ?
A) Guremabl (B) Qsaellen
C) g9 (D) Qsevdlwen

61. Which gas is used in fire extinguisher?

@ Carbon dioxideJ (B) Magnesium
(C) Helium (D) Nitrogen

Swenenriiumefled LwemUHSSUILIHILD eumu] 6T ?
(A) sriueT L yEmaevL (B) Qu&eatflwibd
(C) adedlwd (D) eopLlpmen

A 17
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62. Bhopal gas tragedy, which is considered to be one of the world’s worst
industrial disasters caused due to leakage of which of the below mentioned

gas?
@ Methyl isocyanate/ (B) Potassium ferricyanide
(C) Carbon monoxide (D) Hydrogen cyanide

2 wdlenr WasLGQuflu Gsmfihgrene Curfley eemm smsULBL Curumed elapeumu]
FueuFH e Spsam_sundled s&leuren eumu erg?

(A)  Quwsde nGarangwiCean (B) Qumrirrdwb Quifienswenen()

(C) smuen Guraméms( (D) emanl ymer engwiane(h

63. The reason being emergency holidays are declared by the Government under
Negotiable Instruments Act

@ Negotiable Instruments maturing on the date of emergency holiday
should be paid on the next day

(B) Interest due need not be paid for the holidays declared by Government

(C) Banks need not function in view of leave declared under Negotiable
Instruments Act

(D) Stock Exchange will not function in view of leave declared under
Negotiable Instruments Act

Sleusy s SNHWonsEmer ifEH WLIHDIP®D Jeuamrds b & elHeusrs
il ILIG6 STFeRTd?

A) ers st A@Ren am WHTEUMLID WLIDMILPEDD 6MTHISEHES
B perms&@ wmipTer Lantd QeaissLiuL Ceuer(Hbd

B)  sieusr st B CoPwenm aul g Qeqsss Comauuiaeme

(O  eumdlur wromepen euans &L Ly A Mlalss Codwanm Coume
Qaiws Caemauuieene

D) ukEs sHos LIHN WD euat &L gHear &b IR parn ey Codlwenm
Ceuenev Gewiwimg

AREX255 18 A



64. Which major country does not have a written constitution?
(A) Russia
(B) Iran

(C) Germany

@ United Kingdom/

@dle etz Quiflu Brilige erpsliul L Sipflwed SienwliyF &L Lb @deame?

(&) peigun
(B) rmpmes
(C) Qgwefl

D) wyewer@QLL Hiib

65. The term ‘We’ in preamble of the Constitution of India means
(A) Indian Government
(B) Supreme Court

(C) Indian Parliament

@ The People of India/

@i SirflueenoliQear weraiemyuded "Brb" eremm GO 1 HLUILISET CUMHET?
A) @bHu reThsD

(B) ossfBHwermid

(C) @ndHw umFmEHLETHLD

D) @nHw waser

A 19 AREX255
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66. Who gave the slogan "Jai hind" to the nation?

(A)
(B)

©)

Rajendra Prasad
Rabindranath Tagore

Bhagat Singh

@ Netaji Subhash Chandra Bose/

BrLigH&E Qguiadlbg) eraD (PR&E&S5MSS Sheur

(A)
B)
(©)
D)

prCembdlrl Gysns
TS THTS STanm
LU&SE b

Crare) sumey shHrGLTED

67. Who is a 'Notary Public'?

A)

B)

O

D)

Advocate

A person well noted by the public
An official having authority to certify deeds/

Attorney

Grm_L MU udefls ererueurm wirm?

(A)
B)
©
D)

AREX255

QUPEGDDEHT
QU &EHETTE S EESTTD CFUIS 6p(1h BLIT
SQeuamTRIGMET FTeammaetas 2 fen Gubm SiHsmil

9jL_Lmrefl
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68.

69.

70.

The word refers to an age related status that has legal

ramifications
(A) child (B) senior citizen
(C) infant @ juvenile

FLLLD &MhS euwg QT W euNTHeng 6Tg)?
A)  Gpios B) apss Gy wseen
©) &= (D) @erepdmmi

The transition from child to adult involves a change in

(A) Status (B) Rights

(C) Responsibilities @ All the above/

GLbasLl LmmeusSadmng euredlu LmeusSHnE wrmbCurg gHUGLD WIHDHWD
A  sEdH (B) e flenwser

(C) sLmwsEr (D) GuwGe serL iameangg)Ld

If Amit’s father is Billoo’s father’s only son and Billoo has neither a brother
nor a daughter. What is the relationship between Amit and Billoo?

(A) Uncle — Nephew (B) Father — Daughter
@ Father—Son/ (D) Grandfather — Grandson
SbgHen spHeswrareut Vg eremueufien gheaguler waar Peumt. NOIaIESE

sGangrGrm dag wWL&GCaT Gome. AWSHEGD WogesEn QoL Gu 2 drer
2_ME(LPEDD GTEOIE?

(A)  wmom— Ww(HLSET (B) smens — waar

(C) sHMs— T (D) srgsm— Cuier

21 AREX255
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71. Two cars start from the opposite places of a main road, 150 km apart. First car
runs for 25 km and takes a right turn and then runs 15 km. It then turns left
and then runs for another 25 km and then takes the direction back to reach
the main road. In the mean time, due to minor break down the other car has
run only 35 km along the main road. What would be the distance between two

cars at this poin
@ o5 (B) 75km

(C) 80 km (D) 85km

@@ Ursrear steoeuled @ram® srisdr adr eadi Hosuladlmbg 150 &S
Qgrenaailel(mbg Fearbudng wpse s 25 .15, Qe WeneanT euag L&GSD HHbLI
15 &1.18. gy Qedlpg). Gerent 2ibHs ST QL g ussD S 25 &.15. g QFodng).
Yememt ps s Wrgner gt Crrédl Cewdlng. QsndleLuier Hm updHen
gryewrons wHLPTME &1 WrgsTen graneuie 35 &.5. b euey Qgang. sHGCLITG
@nerr(h srisEhsSlanL G 2 6TeT GITLD cTeU6aTe,?

(A) 6548.8 B) 758.8
(C) 804.8 (D) 854.8

72. Ravi wants to go to the university. He starts from his home which is in the
East and comes to a crossing. The road to the left ends in a theatre, straight
ahead is the hospital. In which direction is the University?

@ North\/ (B) South
(C) East (D) West

76l LOEMOG FPESHDES, Qsoa e pri. psdd o drer eurg oSl ge\(mba
e Slembl @ GMISE FTenedE@ euHEDTT. QL gL 2 drer e HCwL L Med srene
pyouemLdlngl. CpGr wmsgleuvmear QMmaSng. by Hosuld LDSMOHPSD

Bw&8ng)?
A  aLss B) Gsp@
(&) B ITY- 10 (D) Cuwne

AREX255 : 22 A



73.

This question contains six statements followed by four sets of combinations of

three. Choose the set in which the statements are logically related.

(1)
(2
(3)
(4)
)
(6)

(A)
©

All books are having pages.
All kings are having pages.
All Kings are books.

Some heavy things are books.
Some books are heavy.

Some heavy things are having pages.

1.2.3 (B) 4,5,6

2,4,5 @ 1,4,6/

@bz Caearell m sapmésErLer @MSSDG. AHe) 3 FDMEHET QRETMIL G 66T
QgrLiyeLweeuwns @M&Hng. scueisd 4 Asr@dsad Qar@ssiuul(Hararg. ahs

Qa8 QemLiiyeLwig) eremm SearrL_HlweyL.

(1)
2)
(3
(4
(6
(6)

(A)
©)

AW LiSSEmsaNQID LssmEET @)HESHns.
SDASF| ATFTHETYID LISHBISET @) (HEE D).
SDATSG| SATETEEHLD LSSHMIGET.

S saromer QUTHLEET LSSSHISET.

Slod SSHBISGET SETLDTETEE.

fov sarorer QUTHLSETNE LSSBISET 2 6TeTg).
1,2,3 (B) 4,5,6

2,4,5 D) 1,4,6

23 AREX255
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74. Which of the suggested answer is the missing step in the series? .

&EC sar auflengufled 2 crer udldvsafley eTbg LGl eNHULL @)L S cu(mLd?

(A)

O&

©)

SNG

(D)

&

AREX255 24



75. A digital signature is

(A)
(B)

(D)

g8l L_6) e&QWIMiILILD 6TermLig)

A
(B)
©
(D)

a bit string giving identity of a correspondent
a unique identification of a sender

an authentication of an electronic record with unique key only the
sender knows

an encrypted signature of a sender

By B50S S UeuMeT L WTeTsms sT_(Hb @b Fm GHuIG
Sigiueuifler e sefliul L ienL_wimerd

SI@INILLAIMEES L HCW AsAks Blar amsdear sallss mSsTrd
siatiyueiflar smCss ansCw (s

76. E-Book is the electronic version of the books which can be accessed using |

O

(B)

©)
D)

ICT tools and internet\/
ICT tools

ICT tools and intranet

None of these above

Q-usssd @M UssssHar Wataram uliy. dosl LwuaLBSS &)-USsE5MS

S|EL_UWIGTLD

Q) 5y Gosv LHMLD @en@LTGBL
B) gy Gevav

(C) n8lig Gevev LHMID e yrEBL

D)

CuCa saTL eTgie|b @)eranen
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77. The Centre for Railway Information Systems - CRIS
(A) Helps in Booking Railway ticketing
@ Develops and manage the IT Applications of Indian Railways/
(C) Helps in tracking train movement

(D) Helps in railway Signal Management

@rieCeu sseud smwliysstar ewwid (CRIS)

Q) e 4&@sl e ufe| QFuw 2 s6dng

B) @pHu neGader ssad Qsmfld B Us®S 2 MuTEs LHYD Hieudés
2 56i&Dg)

©) 196 aucimy Qeorgid Gbos san(iiiyé6 2 saidng

D)  rheCeu Slsamena HliTeudlss 2 o dlmg

78. Right to Pollution free Environment comes under

Article 21 Right to Life\/

(B) Article 14 Right to Equality
(C) Article 30 Right to establish and administer institutions

(D) Article 19 Right of movement

LOT& @O HOMLILDE GLaidstear 2 e ergern S euhdng)?

A)  agr88 21 Lg aurpaysstan 2 feno

(B)  eyrgg 14 Ly s 2 fAewwo

(C)  agrsg 30 L Hpeuamsmar avSMA&EGL LHMID BlTeudsEb 2 Mew
(D) a8 19 L @ QL &8515E Qeaqib 2 Maw
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79,

80.

Which is the largest snacks company in India?
(A) Parle
@ Haldlram\/
(C) Bikaner Wala
(D) PepsiCo

@rHwmeller BlasLCuflw Ay Safl (snacks) swCuaf erg)?
A)  urrGev

(B)  amédlymb

(C) WYsrent eurem

D) QuusCsr

Which state government has launched Walk to Work on Wednesday

campaign recently?
(A) Maharashtra
@ Meghalaya\/
(C) Andhra Pradesh
(D) Karnataka

aps wrflen sBusHd ysar dypmwsdld ours B ¢fé (Walk to Work) eremp
Sl gleussl wa1555)?

(A)  waenmyrevLFT

(B) Cuwsmeowr

(©) <ypdrl GrCsend

(D) srBTLST
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81. Two rectangular paper strips of length 10 inch and width 2 inch are put flat on
a table such that they overlap perpendicularly so as to form a + symbol. How

much area of the table is covered?
(A) 10inch
(B) 26 inch

(C) 40 inch /
@ 36 inch

10 @enr& Barid 2 @eré LD 2 éiter 2 QFeucus eulg6u STETEET (T Goens WBg) L L s
@eusHLILLL ). 218 sl L GHuIH Cured (+) Cure gerer g eanrs Qek@ssns
Qmbssl. 5HGUNE Guoamsuden ereuauere LTLILIGTE| SibESS STETHETTE @ LUILL (HeTera)?

A) 10 @ens
(B) 26 @ans
(C) 40 @ens
(D) 36 Qani

82. Find the largest number which divides 1230 and 1926 leaving remainder 12 in

each case.
B) 6
@ 174/ D) 12

1230 wpmw 1926 ew auEgsme 12 WFsD HoLsEn Wesl Quilu aaramers

ser(HLg..
A 29 B) 6
C) 174 (D) 12
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85. The scientist who shouted “Eureka” ! Means ‘I ‘ve got it’
(A) Aristotle ' Archimedes
(C) Newton (D) Galileo

sar®gss N CLen eremy  QuUTHE@HEL “u@uqsn” Granm  <preummillL

ef@eneprafluflen Quwir?
A  <siflevmged (B) <y radlisligen
(C) PylLer D) sSGwir

86. Chickenpox is caused by
(A) Rubeola ‘@ Varicella-zoster\/

(C) German measles (D) Varicella virus

Slamanbento ereemed HUHE G ?
Q) enCuem (B) eaurfG@ser-CegrevGLit

(C) Qe 2ybenio (D) eaurfQseevm enauryen

87. Ball pen functions on the principle of
(A) Viscosity (B) Boyles Law

(C) Gravitational force @ Surface tension/

uBgIpaars Cue aThs sdgleusden gL ulle Qgweu®BEng?
(A)  efevsrdliiy (urGHlene) (B) urQueéven 6l

(C) yeluliriiy elens (D) yourier @ peiens
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88. A restaurant owner sells a water bottle for Rs. 34, which had a maximum
retail price (MRP) of Rs 12

(A)
O

(©)
D)

the trader or service provider can charge more price than item’s MRP
printed on the packed item, if delivered packed

the trader or service provider commits malpractice for charging higher
amount thggp MRP, if delivered in packed form and the same is against
the law

the owner of hotel can sell water bottle only up to twice the MRP rate

none of the above is correct

@ Canm L e o Mevwwimert ep. 12 @ Hsul s el ellhsGeuaimgw e LML iq 6
sETeRieny om. 34 &@ elpuemer QeiSpmi

(A)

(B)

©)

D)

@@ ewrurfl weg Cemeu aupm@hT e Qurmaiar wiflsul s alamaanuw
el 2dls ellenavs @ Qummener Cus Qauig) Smb UL FSSH ellhsemd

9bg efwrurfl ooeg Gsameu epmEnpT Gus Ceug CQummener e
GHub (hearer ofls uls dowamwsiL sm@Bzh Csmawss@ NHmme
LS 0&@ wrarmer WpweanCs[H QFISHTS SMHSLILI(HeuUTT

@uan® wLREG 2HHs ey LLHCL Hs Capm L o Meawwmert
ellmueneT QEFuiwipigu|d

@8l erg16 G @)dvene

89. Mandal Commission uplifted

(B) ST

(A) SC
@ oBc (D) OC

LOGWTL_60 SHLOQYET GUGDIQLL Iq IS ?
(A)  ereved (B) erevig
€) @94 D) @&
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90. Who will act as the banker to the Government of India?
(A) SBI (B) NABARD

(C) World Bank @ RBIn

@B rETRISSS 6 eumEwimerTT wim?
/ A)  umys evGLL eurud (B) mumit

C) o osaumé (D) Aereu umms <l @bSluwim

91. Which of the following statement is not true about Subramania Bharati?
(a) Bharati was the sub-editor of Swadesamitran
(b) He translated Tilak’s Tenets of the New Party into Tamil
(¢) Bharati’s Guru was Swami Vivekananda

(d) He was editor of a woman’s magazine by name Chakravartini
A @ (B) (¢

(©) (a) @ None of the al').ove\/

Speumeuareunled erg &LblTweanflu U @Mlsg sruul(Herer eleugrisaticr Feummen
eSlumb?

(@) uméd sCs8 Wsrefen gemen AMNwipTe @QHBSTT

) s dadlar yHw &8s Qsmatensemw Gwmhs QuuTgTT
()  umdulen G seumd eCeusrenbgT

d) esssraurded eremm Queamser usSHMsamauder < AMwi

A) () B) (©

© (@ (D) @oeas ggiiovaa
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92. The clouds float in the atmosphere because of their low:

(A)

(B)

O

(D)

Velocity

Temperature

Density/

Pressure

Speumeualen 6rg Gemmeuns @) HLLGTD Cuabd eueaflwarL s WgsHng ?

A)
(B)
(©)

D)

Geusld
Geuiubleney
oIS

SA(PSHLD

93. What is the dark figure of crime?

@ crime that goes unreported to police and is never counted/

(B)
©)
D)

crime that is reported to the police but is not counted in statistics
crime that are particularly violent

its police slang for burglars who wear dark clothing

@omsdHer Dark Figure erenmmmed erevmen?

(A)
(B)
()
D)

sraugmnsE 0sflelssliuLTg LHNID Sarssle) uTTs GDMmLD

&Teued glawnsE Osfelassliul L garme samrsdle Gsmem(HeurluLTs GDmLD
GHULTE SHenLoulTeT GDHmLD

a;@ﬂq glanfl oemflbs Qararenarwiigamar sreue gepwmed GHUKGHD eurisms
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94. One morning after sunrise, Suresh was standing facing a pole. The shadow of
the pole fell exactly to his right. To which direction was he facing?

(A) North

(D) Data is inadequate

G&Nw 2 swusHDEE Gar qm prer sraouier &Grey eremueT @ SLLS®E CHTES
Blenm QaremgBHHsTD Abs sbusSer Hlipd sflwurs sCrafler cuagnsdd allWPHss.
&Craq e1hs SHevguded Hlem Qamerri (HHSMT ?

A) aLss
B) CGupe
C) Qspe

(D) CGungwrer Qg @oena

95. A man walks 5 km toward south and then turns to the right. After walking
3 km he turns to the left and walks 4 km. And then he goes back 10 km
straight. Now in which direction is he from the starting ? 2

(A) South-East @ North-West

(C) South (D) West

e pui QsnE Crréad 5 £.185. grpb pLsfpri. Wenarnm jeum euagLb Sy,
3 .18, gnpw pLbBS Genant eum @Lg Upb HHoi 4 H.05 g pLsHomi. Gerernt
e WerCammadl 10 £.85. grpb Crrms BLESDTT. el BLES YTD9SS QLS
Gmbgl ThHs SHengudleh jeut @ meS mmi

A) Gser flpss (B) e Guieg

€ Gsp® D) Guope
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96.

97.

A horse is facing north. It turns 90 degrees in the clockwise direction, then
180 degrees in the anti-clockwise and then another 90 degrees in the same
direction. Which direction is the horse facing now?

(A) East @ South
(C) Southwest (D) Southeast

R Gdor euLs@ Crrsdl @msdng. <ig 90 wdfl sysmy Haslien SHmoydng.
Yenart 180 4 dlfl siqary adli Havsuller HmHwyfng. 2Cs Hasuled Wermr@Hn 90 &l

Hmwydngl. sHCUNTE) aThs Hasamw Crréd @dHay @Qmadng) ?
@A) fpse (B) Gs0®
©  QparGpes (D) Gpandlipse

If ‘Apple’ is called ‘Orange’, ‘Orange’ is called ‘Peach’, ‘Peach’ is called ‘Potato’,
‘Potato’ is called ‘Banana’, ‘Banana’ is called ‘Papaya’ and ‘Papaya’ is called
‘Guava’, which of the following grows underground?

(A) Potato
(B) Guava

(C) Apple

@ Banana\/

U6 mEhs eramid, rehs CGuildsmi erammibd, CuRssTL 2 (HaeT&lpnd
GTEIMmILD, 2 (HEETHEE PHIE CUTEPLILIPLD GTammiD, eumenPLILIPL LtuTaflupD eremmi,
uourefluud QesmuwriuL GTemid AMPSSIULL T, GareaheuarelDmer 6rg)
e @ ECL eueTilmg)

Q) 2 moearsSlpris

(B) Qamowmiupid

€ =yder

(D)  eumempliLipd
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98. Which glass beaker is more likely to crack when filled with hot water?

a b
L)) a/ (B) b
(C) bothaandb (D) None of the above
GLrear By b seawmantmgLiungSrsde Hlrudeamed <ig elflse oLw s
eUTILIL|6Terg) ?

a b

(A) a B) b
(C) awhmwbb @rar@Hbd (D) Cule seawr_ erga)b @eaame

99. Which way would the bimetallic strip bend if heat were applied to it or would
it stay straight?

Brass

[ ]

L |

Iron @
(A) Bend upwards @ Bend downwards\/
(C) Stay straight (D) None of the above

uLgdle @iludLuul Gerer @ 2 CGarss giameaL GOLOHMIL QU 6hHe LGSD gl
QUEETU|LD DieVe0G) g CHITS @) (HEBEGT?

Brass
— =
Iron @
(A)  Cuwe Crréd euamaruyd (B) &y Coréd euanaruyid
(C) Coyms @mésn (D) Cule sar agieyb Qdadame
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100. This question contains six statements followed by four sets of combinations of

three. Choose the set in which the statements are logically related.
(1) Some women are those who are successful in life.

(2) Some men are those who have patience.

(3) No man is a woman.

(4)  All those who have patience are successful in life.

(5) Some who are successful in life are men.

(6) Some men are not those are successful in life.

A) 1,36 ® 4,2,6/
€ 1,53 (D) 2,45
@ps Cserell ym smomésErLear @MEHDG. AHHD 3 SFmOMEET RETMIL 6T Q6T

QsTLiyeLWwsTs @méHns). Siaeisb 4 AsrEdsdr Qsr@ssliL@dns. abs AsnEs

QETLmenLwig) erenm sevrLPlweyb.

(1) Quensafler QarEpgd Cuim eurpsansulle Qmﬁ)@@mt_‘lbgmﬁasch.

(2) é{,@h&;aﬂsb Qamepab Cuir QUTmENLd 2 L WICUTHETTE @)(HEHMTTSET.
3) By emd Quet @dame.

4) Qummenwo 2 L weliser eumpedler Geumml ienL_Smmiser.

(5) eumpamsuiler Aeuni Qupmeuisefles G&mErFDd GUIT Y aTEHaT.

6) amsafier Qargpad Cuir aumpelier GeudHd Gupelicvena.

A 1,3,6 (B) 4,2,6
C) 1,53 D) 2,4,5
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SPACE FOR ROUGH WORK
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10.

11.

12.

AREX255

Each question has four responses () © and (). You have to select ONLY ONE correct
answer in the OMR Answer Sheet. In case you feel that there are more than one correct
answers, mark only the answer which you consider the most appropriate. In any case, choose
ONLY ONE answer for each question. E.g., If for any question, B is the correct answer, you
have to shade as follows:

®000

The Question Booklet is printed in four series viz., [A] [B] [C] & [D]. The name of the series is
printed on the top of the Question Booklet. Mark and shade your correct Question Booklet
series [A] / [B] / [C] / [D] carefully in the OMR answer sheet by darkening the appropriate
circle without fail. In case of any wrong entry of Booklet series or discrepancy in determining

the exact booklet series, then, in all cases your Answer Sheet will be invalidated.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take the Question Booklet and the Answer Sheet out of the Examination Hall during the time
of examination. You are permitted to take the Question Booklet only after the Examination is

completed.
Do not write anything in the Question Booklet, except in the space provided for Rough work.

Failure to comply with any of the above instructions will render you liable for action or

penalty as the High Court may decide at their discretion.

Using Whitener / Blade / Eraser or any kind of tampering to change the answers on OMR

answer sheet will lead to invalidation.




